





[2.0] GAME EQUIPMENT
[1.01 INTRODUCTION
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[3.01 SETTING UP THE
GAME

[U.0]1 SERQUENCE OF PLAY

First Player

[5.01 THE ACTION PHASE

Example: Cheyenne begins her Action
Phase with 7 LPs. She decides to draw a

card and spends 3 LPs to do so (half of 7,
rounded down). She examines it and places
it face down in front of her, waiting to spring
it on her opponent when the moment is
ripe. She then spends her remaining 4 LPs to
manipulate her units and markers that turn.



Example continued: Cheyenne’s position is
grim. Her losses are substantial, and enemy
ships threaten her Sector Base. She decides to
spend her last 4 LPs to replace lost ships.

She spends 1 LP just to make this request to
her superiors (the cost of “complaining” to the
government). With that “overhead” cost paid,
she spends 1 LP to replace a destroyed Starship,
another to replace a lost Escort, and the last to
replace a destroyed Auxiliary as its improved

Guardship version (by flipping it to that side).

enemy presence

<

Example: Cheyenne’s Starship escaped damaged
from a Battle during her opponent’s turn. It is
now her turn, and she wants it repaired. She
spends 1 LP and uses its two Engines to move it
two spaces to a Deep Space location where she
has a ship with a Repair & Salvage icon. She
pays another 1 LP to repair her Starship and flips
it back over to show its full-strength side again.
Neither her Starship nor the ship that repaired it
can move further this turn.

unfortified

[6.0] MOVEMENT

locations



move

use

Movement Example: An Imperium Raider
(with 2 Engines) spends 1 LP and moves from
its present location along a link to an adjacent
Waormbole (i.c., its first move using 1 of its 2
Engines). There are no enemy ships there to
stop it, so then it moves from that location
(using its second Engine) to another Wormbole
elsewhere on the map (ie., its second move).
There is an enemy ship at the receiving
Wormbhole location, so that Raider’s movement
for the entire turn is over and no more LPs can
be spent to move it again that turn.

Alternative Example: The same ship makes
the same first move, but there are opposing
ships at the first Wormbole location. Its
movement must cease at that location for
the turn (6.1.4), even though it still had its

second Engine left unused.

[7.01 COMBAT

Attacker
Defender
Rounds
Steps
group move
Towed

Example: Cheyenne’s opponent, Jack, moves
in for the kill. He has a group of four ships
together (with different Engine values),
including his Flagship, and pays 2 LPs to
move the lot to an adjacent location (which
is as fast as the Flagship can go) where three
more of his ships await.

With his last 3 LPs, he leaves one of these
seven ships behind and moves his Flagship
once more, this time with five other ships in
tow, into battle with Cheyenne’s forces.



Missile Bases

Examples: A fortified planet Control marker
with one triangle can fire one shot and Hits
on a [l or less; a fortified planet Control
marker with two triangles can fire two shots
and each Hits on a [l or less, etc. You can see
that each time you raise the Fortification level
at a planet, its defenses improve exponentially,
not arithmetically.
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Engagement Group Example: Three
Alliance Scouts (each with a 1 Atrack
Rating) are preparing to fire, and their
owner considers forming Engagement

Groups.

They could all fire separately, rolling three
dice, each hitting on only a [@.

Alternatively, the player could have one fire
separately, hitting on a [, and the other
two combine into an Engagement Group
that would roll a single die and Hiton a

Bl

Another way to work this is that they
could all be put together into a single
Engagement Group that would Hit on a
B BB B BB or BH (1 for each ship’s own
Attack Rating, +1 for each additional ship
in the group, excluding the first one, for a
multi-vector attack).

+ _— COmMBAT
_— STRENGTH

shield defense

danger
Flee

damaged
step loss

Continuing with the above example, the Scouts
combine into a single Engagement Group
and get a Hit with their die roll of §§. The
Imperium Player designates a full-strength
Destroyer from among his ships in that Battle
to receive the Hit and rolls against its Defense
Rating of 4 to see the result. On a [, il or B
the Hit becomes a Miss. On a {i, the Destroyer
is in danger and must either flee or take damage.
On a BK or fB it must take damage, which
means that it would be flipped to its reduced-
strength side and stay at that Battle.

Example: 3 Hits are suffered and only a
single ship with a Defense Rating of 3 is
there to apply them to. The first shield roll
is a [, which is a Miss, so the target ship
remains to receive the second Hit. A @} is
rolled to shield it against the second Hit,
meaning the target ship is in danger; the
owning player opts to have that target ship
flee. Now, with no targets remaining in that
location, the third Hit is not even applied.
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seized

[8.0]1 HOUSEKEEPING

compromise



Example: The Imperium Player has one
Dominator class and one Specter class ship at
alocation with an Alliance-controlled planet
that has one Fortification level. This planet
needs to be assaulted (8.2)!

The two ships have a combined Planetary
Assault Rating of 5 (4 + 1). The Imperium
Player rolls a die and the result is a g, which
just gets the job done. The Alliance Player
replaces their Control marker so that it has
one fewer triangle (i.e., it is unfortified and
Disrupted in this case). This makes the planet
ripe to fall to any Imperium ship zex# turn
(8.1), its acquisition still in a Disrupted state.

If the die roll had been higher (i.c., 2 @), the
Imperium Player would have to consider
assaulting that planet again next turn.

Besieged

Disruption

Logistics Point LP

friendly

Example: The Imperium Player controls
6 planets (including his Seczor Base) and 1
Asteroids location, providing a total of 8 LPs.

Example continued: However, as per its LP
Track, the Imperium has a capacity for only 6
LPs, so only 6 are received (i.e., a “full tank”).

<

Example: After receiving 8 income, the
Alliance has one Disrupted Planet that wants
for repair. With no Repair & Salvage ship at
its location, the Alliance Player’s Sector Base
Planet is Unbesieged, and so she spends 1 LP to
repair that planet, flipping its Control marker
over to indicate that it is now recovered.

She will begin her next turn with only 7 LPs
remaining on the Alliance LP Track.

[9.0]1 CcounTDOoOWN

[10.01 HOW TO WIN



[11.01 SCENARIOS

Faction



